ELSH ORI (R5. 3. 31 HEIE) GHBBLUASHE WA M)

&#Tﬂ(fﬁ:%%%%(m&%)
oA B H T R OBl #H N R AT X X B T A OB 3 A AT X
1 F /K& fE K 165,890 174,046 104.9 |1 % i % 9,522 7,270 76.3
2 WKL EE A 4 3,694 3,694 100.0 |2 4 B #H 104,877 103,210 98.4
3 Z 0w ¥ A 2 107 5,350.0 [3  #& & # 63,210 59,234 93.7
4 fth = F M B & 136,813 136,813 100.0 |4 % D fit 290,902 290,855 100.0
5 fifi B & 15,292 15,209 99.5(5 3 Ml H 20,257 20,063 99.0
6 % 75) fth 176,613 176,919 100216 % %) fi 4,080 1,079 26.4
SN i 498,304 506,788 101.7 X GaE 492,848 481,711 97.7

T K EFE X = B (EER)

A B H T B OB A % BOAT B X B H T R OBl 3 # AT X
% W AHE e 1 0 001 HHERKRH 1,000 913 91.3
= E Ly e 1 1,100 |  110,000.0 |2 A [ E& e A2 250 248 99.2
s & & 37,436 37,436 3 e EEEHE S 150,343 150,342 100.0
SN 37,438 38,536 102.9 X WA E 151,593 151,503 99.9

YEEBEE 884, 114 (A1 396, 770 4rER487, 344)




At (IR4xHY)

BREEEHEAKE X
H

oA B H T R OBl #H A % AT X X # H T A OB 3 A AT X
1 F K& fEH B 36,370 37,162 102.2 11 & = % 3,255 3,245 99.7
2 O E A 1 8 800.0 |2 4L B ¥ % 24,974 24,753 99.1
3 o= B A B & 50,080 50,080 100.0 [3  #& £3 # 6,330 4,715 74.5
4 4f Bl & 0 0 004 = 75) fit 104,743 108,012 103.1
5 % » fits 69,213 71,177 10285 3 # F B 15,457 15,421 99.8

6 = D fit 121 22 18.2

SN i 155,664 158,427 101.8 X GaE 154,880 156,168 100.8

B EE K K F X = B (BXH)

oA B H T B OB N R AT X o B A T R OBl 3 # AT X
1 2% FH o HE 1 1,650 | 165,000.0 |1 & B & &% &k B & 1,870 1,870 100.0
2 % 4 28,091 28,091 100.0 (2 SLFRIG AR it R # 1,980 1,419 71.7

3 B E & e AL 300 300 100.0
4 2 ¥ E EH B2 & 59,752 59,752

SN 28,092 29,741 105.9 X WA E 63,902 63,341 99.1

EEMEBES 753, 823




K E F E = (R

A ® H T R OBl #H A % BOAT B X B A T A OB 3 A BoAT F
1 # K I % 326,007 326,334 100.1 |11 K #H ok & 71,462 67,447 94.4
2 % 5t T UL 4% 2,054 2,262 110.1 |2 &  #H  Kk B 37,425 36,225 96.8
3 TRk AFAMRS 8,769 10,674 121.7(3 % # T H= # 1,759 1,758 99.9
4 = I F B 17 31 182.4 |4 #& £ # 26,138 20,505 78.4
5 fl = 3 M B & 10,594 10,594 10005 3 #  F B 19,052 18,588 97.6
6 % %) fil 64,746 67,111 103.7 [6 * D ik 176,994 201,488 113.8

SN i 412,187 417,006 101.2 X A E 332,830 346,011 104.0

K B F % it (BEAH)

oA B H T B OB N R AT X o B A T R OBl 3 # AT X
1 1 ES & 629,000 629,000 100.0 (1 54 oK it 7% o B 2 1,506,794 1,506,710 100.0
2 & & 487,000 487,000 100.0 |2 ERACHE K R i 2 B 22,908 20,987 91.6
3 4 # 4 506 1,123 221.9 |3 i 5 KB i s B i & 0 0 0.0
4 M OB & 303,790 303,790 100.0 |4 = ¥ = W # 460 158 34.3
5 B i B & 0 0 00|56 & ¥ & # & & 143,592 143,591 100.0
6 — k= EHA B & 27,362 27,363 100.0
7 A # & 1,156 1,156 100.0

SN 1,448,814 1,449,432 100.0 X A F 1,673,754 1,671,446 99.9
EMEBIER 1,856,826
£ 4 M EERGBERLA 240,730 JMEREI4A 94,146 FIREAENL4A 10,636




